

次はどうする？

$$(1) \quad - \frac{-6x - 4}{3} = 7$$

$$(2) \quad \frac{3x + 3}{5} - \frac{9x + 6}{4} = 0$$

$$(3) \quad 0.8(-0.6x - 2.8) - 0.28x = -6$$

$$(4) \quad 0.4x - 8 = 0.3$$

$$(5) \quad - \frac{5x}{8} - \frac{5}{4} = \frac{4}{7}$$

$$(6) \quad 3(3x - 6) + (8x - 1) = 1$$

次はどうする？（解答）

$$(1) \quad -\frac{-6x-4}{3} = 7$$

$$-(-6x-4) = 21$$

$$(2) \quad \frac{3x+3}{5} - \frac{9x+6}{4} = 0$$

$$4(3x+3) - 5(9x+6) = 0$$

$$(3) \quad 0.8(-0.6x-2.8) - 0.28x = -6$$

$$-0.48x - 2.24 - 0.28x = -6$$

$$(4) \quad 0.4x - 8 = 0.3$$

$$4x - 80 = 3$$

$$(5) \quad -\frac{5x}{8} - \frac{5}{4} = \frac{4}{7}$$

$$-35x - 70 = 32$$

$$(6) \quad 3(3x-6) + (8x-1) = 1$$

$$9x - 18 + 8x - 1 = 1$$